
Active Teaching and Learning Approaches in Chemistry 
���� �����ก�	
��
ก
 

����
	��
������������ 
����������	�����
� ������	�����
�����������	� 

 
ก�
�
�	��  !"#
$% (Active Learning) �3� ก�
�
�	�
$%��45$%�
�	��%�67�����7��	����������

��%�!��%�	����6 7
3�
8��ก9�ก9 �:34�� ��8� 
8���3 �%�7������  
8������
�	 
8��������� ����
;�
�������
� 	��
8��ก9� 7
3���ก�9	7�<46�3�ก�
����4	�5$%�
�	���กก�
��=�5$%�946>?6�	8�6���	� (passive) 
����=�5$%�
�	���4
8��ก��ก

�ก�
���67�����
$%��45$%���ก��7�� 
�%�6�3��������B� 9���
�6 ����
C���
����
$%
�!�%!�������
�6
�% D<46ก�
�
�	�ก�
����  !"#
$%�9E�!7%5�ก�
�
�	�
$%
�8�8�6��กก�
����  
 

	�	�����ก�8�ก�
����   

	�	!��%��ก�
:9F���9กG�ก�
��� ก�
���	� ก�
���6��ก�;8� ก�

������� �?��; 9�5$%���!��C� 9�ก�
�<กG��8�6H�%���%�6ก�
�
�	;ก��ก�
����   

	�	!7%��=�
ก�
�9�ก�
�
�	�ก�
����  !"#
$%�:34��
9 ����4	�:I��ก

���� � ����65$%�
�	�!7%
�%�6�3��B� 9��
7
3�����	8�6�34��9�
��C<6!7%�8�	!7%���: ����%��!�7%�6�
�	���=�ก�
�
�	��	8�6��������������5$%�
�	�
������ก
��3�
3�
%�!�ก�
�
�	��:�4��<E� (Sakda. 2548:14) 

�?��; 9�������
�Tก%��7�%���6���	�����
�����������	���=�
��	8�6
�87	;�	9E6 �9�����
$%
����ก�<E��
34�	H �96�9E�����
$%��8!����
��:�	6�	8�6���	��6
�8�:�	6:��8�����4	����6��6�������	�
��9	!7�8��4��%���!��?��; 9� ��8�
$���	�����
���4���9E���
�%�6������	7�����
$%��4�	$8
� H�9�5$%�
�	� 
��34�6��ก�
�� ก�
���
�����9���65$%�
�	��9E��������9�:9�U�ก9 ����
$%������%�!���6���	�����
�
��ก ��46�7�8���E��ก8�!7%�ก���?T7�!7%5$%�
�	��%�6������!�ก
� ��ก�
�����6�9ก�
�	��9E�����%�6!�%
��U�ก�
7�����
$% ก�
��� ���ก�
�ก%�?T7���6���	�����
���%��8�	 C%�5$%�
�	����ก
� ��ก�
�����6
���	�����
���%�������������
C!�ก�
�ก%�?T7�
�8�:�	6:�  (Sakda. 2548:14) 

ก�
�
�	�ก�
���!�
��9 �;���<กG���	�94�
�	96��	�ก�
�
�	�ก�
����V:��!����
��:�	6
�	8�6���	� �9�����
�����5���ก����
$% ������� ��	
�8��W���ก��!7%5$%�
�	��� � ��!�ก�
�
�	� D<46
5$%��� �6�8����	�!7%5$%�
�	������
��:�	6�	8�6���	� D<46��=�ก�
���!7%5$%�
�	��8����ก� 34�ก�
�
�	�����
���	�����
���=��8��!7T8 ก�
����  �ก8��9E�5$%����8��!7T8�9ก��=��$�	�ก��6��67%�6�
�	� �3�	3�
�	$87�%��9E���������	ก�
:$�������	�ก
������� 5$%�
�	��� � ���:�	6>?6 ���	� ��������5$%��� 
D<46ก�
����  ��E�
�	ก�8�ก�
�
�	���	5$%�����=��$�	�ก��6 (passive learning) ก�
�
�	�ก�
����  ��E



��=�ก�

�8��W���ก��!7%5$%�
�	�
�%"Yกก
� ��ก�
��� ��U�ก�
7�����
$%�:�4����� 
��C<6ก�
���6��

8��ก9 5$%�
�	����34�H  
 5$%���9	���
�� ก�
��!�ก�
����9ก�<กG�!�
��9 �
�TT��
��9E��Z��4 1 ������	�����
����
�������	� �Zก�
�<กG� 2551 
�	���������94�
� (4221101) : �8�ก�
�
�	���������!�7%�6�
�	��9E� C%�
��%������8�IG\� ���!7%5$%�
�	��8��!7T8�9ก����ก�
�V34�	 
�8ก
��3�
3�
%� ���
�8�ก86 �8���9กG�ก�

���67�����
$% ���6����=�ก�;8�
�8��=� �������
�8�ก86 ��กก�
���
��: �8�5$%�
�	�
%�	�� 75 ���9E6!�
>?6�:�	6 20 �����
ก ����7�3�5$%�
�	��:�	6
%�	�� 10 ��4�9E6!�>?6��C<6�����;��%�	��8��9E� ��ก�?T7�
�%�6�%�5$%���9	�<6�7^��8���
�����U�ก�
�9�ก�
�
�	��  !"#
$%��!�%!�ก�
�9�ก�
�
�	�
$% �:34�!7%5$%�
�	�
�%
�
�	��%�	ก�
� �?T7� ��	��45$%�����
�8ก
��������=����	�ก
 5$%�����
�8��=�5$%�� �?T7��8�6H
 8�	�9ก��8����=�5$%�9E6���C���8�6HD<46���8�	!7%5$%�
�	��%�: �%�	����6 ��46��4��%��:�4������3���46����%��
!�ก�
�
�	��%�6	94�	;!7%5$%�
�	��	�ก��4���
�	�
�8!�8��=�ก�
 �  96�9 !7%�%�6�
�	� D<465$%�����
�9�
ก��ก

���4�����
��$8ก�
�
%�6ก�
����6 �:34�!7%5$%�
�	��
�	�
$%ก�
�ก%�?T7� D<46�;��;867��	��4����9T!�
ก�
�
�	�ก�
����:34�!7%�9ก�
�	�
$%C<6��U�ก�
�
�	�
$%�%�	����6�9E� 
�8����U�!���45$%�
�	���
$%D<E6C<6ก�

���6����6�9ก���	�����
���ก
�ก�8�ก�
���
�� ก�
����กก�
�B� 9���
�6��	!�%�9กG�ก
� ��ก�

��6���	�����
���=���
34�6�3�!�ก�
�%�����
$%  � ����65$%���!�ก�
����  ��Eก̂�3�ก�
�9����
��
�	��C��ก�
��D<46��W���ก��!7%5$%�
�	�
�%���6 � ����6�9ก���	�����
� ���5$%�������
C
ก
��;%�!7%5$%�
�	�����8���46��45$%�
�	�����9E������
�!�%�
��	�����


�% %�6�:34�!7%5$%�
�	��������
$%
�
����
%�6�

����46�
���G_��34�H��4���
��	����8�
� ��������45$%���9	��3�ก��!�%�
�ก� ก�
�
�	�ก�

����  !"#
$%7
3�����
�	ก��ก�	8�6
�%�8�ก�
�
�	�ก�
����  5$%�
�	���=��$�	�ก��6�3�������������4	�-
����$8-���
8��ก9� (Think-Pair-Share) ���������ก�
���	�:
%��ก9�
� �6 (Simultaneous Round Table) 
��������
3��8�	������� (Team Word-Webbing) �����������
66����=���� (Team Project) �:
��
�9E6��4�������%�6�%���=���������4����
C:9F��ก
� ��ก�
��� "Yกก�
�ก%�?T7��	8�6��=�
�  �9E6�%�	
����6���ก�

8��6��ก9 5$%�34� ����������
C����%��$���4
�%���
%�6�6������
$%!7�8 D<46��=�ก��ก

�
��̂กH��4���;��8���34�6��ก��=�ก�
��ก�  ก��ก

�ก�
�
�	�
$%�:34�!7%5$%�
�	�����
C���6��
�%����
̂�
��	!�%ก�
�������8�	�7�3���ก5$%��� 5$%�
�	������ก��ก

��:�4�����
�%7��ก7��	��กก��ก

�ก�

�
�	�
$%��4����6��!�  � ��5$%���
�%�ก8 ��	�96�ก� ��9 ��;� �
%�6 

	�ก����6�96��!7%5$%�
�	���
�B��9�:9�U�ก9 �:34�������ก��65$%�
�	� �����!7%5$%�
�	�
�%
9 ����7��	����
��	�����6ก�
�
�	�
$%
�9���=�:3E�_��ก�
:9F����������
C��6ก�
��� 
 



�������ก���� ก��!�"#�$%%&'(�)* 

�กG�  �
������� (2550 : 2) 
�%ก�8��C<6�8� �9E����ก�
����  !"#
$% �� 4 �9E���� �3� 
1. ก�
��ก����4	��
�� ก�
�� (�
�� ก�
��) 
2. ก�
�
%�6�6������
$%
8��ก9� (���%����������������
�	) 
3. ก�
���������������7̂� (�������
� 	��) 
4. ก�
�6�3��B� 9��7
3��
�	;ก��!�% (�
�	;ก��������) 

 

ก+�ก��,ก��!�"#��)* 
 �
�4�ก�
��%��$8 ��
�	���	!7%ก�
��$��
34�6��
��������=�5$%��8��
34�6
���ก�4	�ก9 ������=���
��=�
���6��6��̂6 ��6�7�� ����กl� D<46��=�ก�
ก
��;%�!7%��^ก��������!�!� ��
�	���กก�8���4
5$%�������=��� 

	�	 7
3���%�8�����=�ก�
��ก! 6��ก̂���  
 
  

                 

                  

               ��������	
���
���� 

  

  

  

 
5$%�
�	�!�����7��	��6ก�
�9�ก�
�
�	�ก�
����  !"#
$%�9E�����=��9���ก!��
34�6 D<465$%���

�����7�%���4!�ก�
��ก�  ก�
�����4�������7�����ก9 :3E�_����65$%�
�	� D<465$%������D9กC��
5$%�
�	�7
3����!7%5$%�
�	�
�%����  ���� ก8���
�	��:34���4��
�%
$%C<6:3E�_����65$%�
�	��8��	$8!�
��9 
!� ��ก�9E�ก̂��ก�  ก�
���!7%�7�����ก9 :3E�_����6ก�;8�5$%�
�	� ��	��46����9T�3����!7%5$%�
�	�
�����=� �����=� �ก%�?T7���=� !7%5$%�
�	��
�	�
$%�	8�6�������;� �������
C�
�	;ก������
%�6�

��!7%
��=���E�6����4�� $
��
�% 

  



  
 
 
 

      -�.%��#�ก�/�0123�4ก�� 

           �� ก��!�"#�$%%&'(�)* 

 
 
 
 

ก�
�9�ก��ก

�ก�
�
�	�
$%��4��%�5$%�
�	���=��$�	�ก��6
�%�
9 ������ก�
����6��!�%�:34�
�
�ก� ����U� �	 D<46��ก5�ก�
��กก�
�
�	�
$%!��9กG����E���!7%5$%�
�	���!�ก��ก

�ก�
�
�	����<E� 
�ก��ก�
�
�	��  ��;ก���� �� 

	�ก��ก�
�
�	���4�� �:
��
�%���ก��ก

�ก9 �:34��H�����ก�

��ก����4	���������7̂�ก9�
�7�8�6ก�;8� ��ก�9E6	96��=�ก�
"Yก�9กG��%��ก�
���ก�
����6���	�����
�

�%����ก�%�	 

  

  

  

  

  

  

  
 
     ก���� ก+�ก��,5 6�45�42+5#�/�7��8 



ก�
�
�	��  !"#
$%�9E�	96��=�ก�
ก
��;%�!7%5$%�
�	��ก���9กG�!�ก�
��6�5�!�ก�
����6�3�
�B� 9������ก%�?T7�!�ก�
���ก��ก

� ��ก�9E6	96��=�ก�
"Yก!7%5$%�
�	�ก�%������กก
� ���
��$8ก�
�
%�6
��E�6���8�6H
�% ���!�ก�
�������5�6���9E�5$%�
�	��%�6���ก�
�<กG� �%���%��
34�6��4
�%
9 �� 7��	
��ก�7�86�%��$��8�6H�9E6��	!�7%�6�
�	��3��
�� ก�
���
�6��4
�%��กก�
����6 ��กก�
��ก����4	�
��������7^�ก9 �:34�� 7
3���%��8�7�86�%��$���	��ก7%�6�
�	� ��8���ก7�96�3� ������
���̂� ��=��%� ��4
ก�8�����%�6�%��9E�	96�����ก��467�<46��45$%�������6�%��
�
�8
�% �94�ก̂�3� �������ก5$%����:
������=�
��������$��!�!7%�ก85$%�
�	���=��	8�6	�46��4��%�����
C���6����4
�%
9 �� 7��	
�%�� ���
����U���: 
  

 

 

      -�.%��#�ก�/ก���9�!7��:64����4 

            ก6;3,��4$�<4 ��4!162 $ก=7 

 
 
 
 
 
 
 
 
 
 
 
  

���7̂��8�ก�
�9�ก�
�
�	�ก�
����  !"#
$%�9E�
�8�%�6ก�
!7%5$%�
�	��
�	��%�	����6��8��9E� ��8
5$%�����
���
�	�
$%
�:
%��ก9 5$%�
�	� ��46����9T�3�5$%����%�6��%�!����
$%U

�������6�9E65$%�
�	�
5$%��� D<46������!�ก�
�9�ก�
�
�	��  !"#
$%�9E���7��ก7��	
$��   7�ก5$%�������
C���������
�8�6H���
9 !�%!7%�7���������=�ก�
�:�4��
����U���:!�ก�
:9F��ก�
�
�	�ก�
����8�
� 
 


